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22 RFf ok ok ok % 7 14 P
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1 SIS - 7 5 4 7 4 2 6 7 6 7.0
2 AN 3 3 1 1 5 4 5 3 5 4.0
4 AZE K 6 7 6 6 6 3 4 6 7 6.0
7 i B 2 2 5 4 2 6 3 2 1 1.0
9 L — 5 4 2 2 7 5 7 4 4 5.0
18 lhp BERE 1 1 7 5 3 1 1 5 3 2.0
28 | )Iim IR 4 6 3 3 1 7 2 1 2 3.0
B BAR 2
No. % T K4 Q B RiE
1 ks B 7 7.0 7.0
2 AU 4 4.0 4.0
4 FAZE R 6 6.0 6.0
7 i B 1 1.0 1.0
9 L — 5 5.0 5.0
18 lhp BERE 2 2.0 2.0
28 | )Iim FIR 3 3.0 3.0
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1 13002559 | A {aTAf B PRRE 1 RS gt FR. IR EAL 7.0
2 13000037 @ B | #&£1l #iiE ANRE-SE RS i o] U2 HANL 4.0
3 13002184 @B | |LUAK ik HAT b s FREE B1rEe 4
4 13002432 @ A | KAEE gk JRH BT s M7 BRI oA 6.0
5 13003358 @ A HA &k g AT s THIR 2T 4
6 | 13002012 A | [H /AT ] H1- s R MR 0
7 13001326 A EP B— ¥ HmET HE & L % 14L 1.0
8 13001044 @A | Hprp 3 B PR RS FRAR 2TEe 2
9 | 13002077 @ A | il — SLl HET RS e[ U %54 5.0
10 = 13001114 B  #Ex K E- SR NI = RS THIR  H2TE 3
11 13002421 A | [UF 8K VN s fEpTE 1 TEe 3
12 | 13000942 B | fERE 94 wERR 151 RS FREAE HS1PEe 5
13 13001281 B | ‘=A< FlBH FEH s bl MEDREE 4
14 13003370 B HiAS H— HH =t R AT IR 1P| 2
15 | 13002084 = A E4E FEsL ¥ JET s R HERRE 4
16 | 13001308 A | BpRF Fik (i 21K s AN i 1D
17 | 13003932 B & #is VA=Y s R 2T 2
18 | 13001688 = A (LM BERA o BT R 1R 55 21L 2.0
19 | 13001079 A /g EL AR T s R SB1TEe 2
20 | 13003259 @ A [HE [EE e &1 RS THIR  F2TE 4
21 | 13001230 @ A HUR EEME JRH EfREE RS T 2T 1
22 13002892 @ B AFF E FHiE O H s e 2 TEe 2
23 13001340 A | M PR 2 o Tl 1 TEe 4
24 | 13002845 | A | & — w2 FF RS THIR 2T 3
25 | 13001077 @ A VR TR IR P71 RS I HERPS 3
26 | 13001759 @ A JIl I {36k JI b sk RS Erb b MEDRREE 1
27 13003344 A | EA EIR B s wprE | 1T 3
28 | 13002583 A JIluE FR JI Fn-v- s & LR 530 3.0
29 | 13002725 B | ETHEP 47fdE LS Y53 RS R R 2
30 13003300 @B | JEE GEED KB TR R R 1T 3
31 | 13003847 B B SHER % Hr HE I B BE2 s 3
32 13002541 A | FEA FEK AN N ESeLR RS FREA 2T 4
33 13000935 = A | KK A K AT RS FREAR 2T 3
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